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PUBLIC SERVICE COMMISSION, WEST BENGAL
CLERKSHIP EXAMINATION, 2023
SCHEME & SYLLABUS

Scheme of Examination :

1. The examination shall consists of two parts, viz., i) Part-I (Objective Type) (ii) Part-II (Conventional
Type — Written).

Part-I Examination :

Part-I will carry 100 marks having 100 questions of 1 (one) mark each, comprising of multiple choice,
objective type question on English (30 marks), General Studies (40 marks) and Arithmetic (30 marks). The
duration of Part-I examination shall be 1 hour and 30 minutes.

Part-II Examination :

Part-II shall consist of conventional type questions on a) Group-A : English b) Group-B :
Bengali/Hindi/Urdu/Nepali/Santali carrying 50 marks each for Group-A and Group-B. The duration of Part-II
examination shall be 1 hour.

2. The elementary knowledge in Computer operation and ability of typing on Computer of the
candidates shall be judged only after they are found qualified in Part-I and Part-II.

Syllabus for the Examination :

Part -1 :

English : Fundamentals of the English language such as vocabulary, grammar, sentence structure,
synonyms, antonyms and its correct usage etc.

General Studies :
Matters of everyday observation including everyday science, current events and problems with
special reference to India and elementary knowledge of Indian History and Indian Geography.

Arithmetic :
Divisibility, fractions, decimals, recurring decimals, simplification, HCF, LCM, Partnership, Average,
Ratio and proportions, percentage, simple interest, profit & loss, time & distance, area of rectangles
and squares.

Part-II :

Group-A : English

a) Drafting of a report in English from points or materials supplied ;

b) Condensing of a prose passage (Summary/Precis) ;

c) Translation from Bengali/Hindi/Urdu/Nepali/Santali, as the case may be, into English ;

Group-B : Bengali/Hindi/Urdu/Nepali/Santali :

a) Drafting of a report from points or materials supplied ;
b) Condensing of a prose passage (summary or précis) ;

c) Translation from English into Bengali/Hindi/Urdu/Nepali/Santali, as the case may be ;

The standard of examination shall be similar to that of Madhyamik Examination of the West Bengal Board of
Secondary Education.
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1 ere does the Dalai Lama live?
~ (A) Mussoorie

(B) Rumtek Monastery

(C) Tawang

(D) Mcleodganj, Dharmashala

2. How many scats are there in Lok Sabha?
(A) 540 - |
(B) 543
(C) 545
(D) 550

3. Who among the following persons was not
a famous sculptor?

(A) Jogen Chowdhury

(B) Nandalal Bose

(C) Ramkinkar Baij

(D) Tarasankar Bandhopadhyay

fAarN =Afn F

4. Before becoming the president of India
ga.na‘b Mukherjee never held the post of

(A) Defence Minister

(B) Finance Minister

(C) Minister for Railways

(D) Minister for External Affairs

5. Greta Thunberg is
(A) an Actor
(B) a Tennis player
(C) an Environmental activist
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(D) a Human Rights activist

(D) e geafEaR o




6. Whoamong the following was awarded the
Nobel Prize in Literature in 20197

(A) Peter Handke
(B) Bob Dylan

(C) Olga Tokarczuk
(D) Salman Rushdie

7. The Easter Sunday suicide bombings in
2019 had taken place in

(A) Christ Church
(B) Colombo
(C) Bradford
(D) Jerusalem

8. How many districts are there in West
Bengal?

(A) 21
B) 19
(©) 24
D) 22

9€The Rafale deal relates to the acquisition of

(A) helicopters

(B) fighter planes

(C) submarines

(D) long range missiles

10. Which one of the following items i sought
to be banned for protection of environment?

(A) Jute bags

(B) Plastic bags
(C) Paper bags
(D) Cloth bags
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11. Who among the following persons is a 11, frare afeo sy oo i o
Boxer?
: (A) fear 7o
(A) Dibyendu Barua P
(B) Chand Ram (B) L
(C) Manju Ran; NO)y g i G
(D) Dipa Karmakar (D) Rl wfara
12. Mahatma Gandhi had first started his 12, Wiyt oh e Sra e e wieHE 2449
non-violent non-

cooperation movement in

o o I
A p
A) TGANE

' (B) South Africa ®) e A H"‘M)

(C) India

(D) Zimbabwe (€) e @)

X (D) FrCATTS
13. The 2016 Olympic games were held in 13. 2016 7t SR (o1 (3 103 SfPe T
(A) London o1 2=

(B) Rio-de-Janeiro

(D) Mexico city ©) T
(D) cwf3ret Fifl

. f India 14. FRUGR 370 41 SR ) RsfRs . -
‘ : 4. Which one of the following states of ,
I ha: lost its special status due to abolition of | e Fwers MR R m“fﬂ -

Article 3707 » 1 w‘uuw- o . g o

(A) Manipur . ; oY I @@ m"jb 39
(B) Jammu and Kashmir ©) TS

| (C) Nagaland ©) B C&)

] - (D) Sikkim

15. The Howdy Modi programme was held in 15. Howdy Modi SR (1 = zafes cifp
(A) Los Angeles =

(B) New York (A) 7 e

(C) Houston (B) ﬁf‘?,m @ug)@“r/t)

(D) Washington

(D) euMsw



16. Which one of the following is not an

independent state?

(A) Australia
(B) Stotland
(C) Belgium
(D) Spain

17. Who is currently the Chairman of IMF?
(A) Christine Lagarde

(B) Kristalina Georgicva
(C) Jean Claude Juncker
(D) Donald Tusk

18. Lionel Messi hails from
(A) Brazil
(B) Argentina
(C) Bolivia
(D) Portugal

o
19. Fijiis in
(A) the Asia-Pacific region
(B) the North Atlantic region
' (C) North Africa
(D) South America

20. S-400 missiles are being acquired from
(A) Sweden
(B) UK
(C) Russia
(D) USA

C.5
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®
21, Who won the World Championship in

Badminton (women's single) in 20197
(A) Sania Mirza
(B) Saina Nehwal
(C) P. V. Sindhu
(D) Nozomi Okuhara

22, Who is the present President of France?
(A) Nicolas Sarkozy
(B) Jean Monnet
~ (C) Emmanuel Macron
(D) Francois Hollande

=

23. The first Asian games were held in
(A) Jakarta
(B) New Delhi
(C) Colombo
(D) Bangkok

24, Khudiram Bose was hanged in
(A) Medinipur

o (B) Dum Dum Central Jail

-(C) Muzaffarpur N
(D) Presidency Jail, Kolkata

25. Which one of the following is not a Union
Territory?
(A) Chandigarh
(B) Andaman and Nicobar [slands
(C) Puducherry
(D) Tripura

21. 20193112 o aptefira afomnifara (sfames
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26. The battle of Plassey was fought in
(A) 1757
(B) 1758
(C) 1857
(D) 1858

27. The UN Human Rights Commission has its
headquarters in

(A) Geneva
(B) Washington
(C) Paris

(D) London

28. Gautam Buddha was bomn in
(A) KapilaVastu
(B) Samath
(C) Bodh Gaya
(D) Lumbini

o
29, Vidyasagar's birth place ‘Birsingha’ village
isin
(A) Hooghly district
(B) Nadia district
(C) West Medinipur district
(D) Howrah district”

30, TheMagsaysay Award(2019)inJournalism
Wwas given to

(A) Swapan Dasgupta
(B) Raveesh Kumar
(C) Amab Goswami
(D) Ravindra Kumar

DBF/I9
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(D) 1858 1A
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31. Who is the author of the book ‘The Third
Pillar'? . .

(A) Amartya Sen
(B) Padma Desai
(C) Raghuram Rajan
(D) Jagdish Bhagwati

32. Which one of the following states is not a
Member of SAARC?

(A) Bangladesh
(B) Myanmar
(C) Sri Lanka
(D) Nepal

33. Which one of the following rivers does not
flow across the India-Bangladesh border?

(A) The Ganges “
- (B) Teesta

(C) Atrayee

(D) Damodar

&  34. President Donald Trump succeeded
(A) Bill Clinton
(B) Barack Obama
(C) Colin Powel
(D) George Bush Jr.

d RSkl RO

4_5. Except Hong Kong, how many other Special
Administrative Regions (SARs) are there in China?

(A) 2
(B) 1
© 3
(D) None of the above

31. ‘The Third Pillar’ %02 @raraa
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36. Balakot is in
(A) India’s north-east
(B) Pakistan's north-west
(C) Afghanistan
(D) Iran-Afghanistan border

37. Jaideep Mukherjee represented India in
(A) Tennis
(B) Badminton
(C) Cricket
(D) Football

38. The India-Bangladesh Border is guarded
on the Indian side by

(A) The Indian Army

(B) Border Security Forces (BSF)
(C) CRPF

(D) Indo-Tibetan Border Police

®. Which of the following team won the
Cricket World Cup in 20197

(A) South Africa
‘(B) England

(C) New Zealand
(D) India

40. Mahatma Gandhi was assassinated on 30th
January
(A) 1947
(B) 1948
(C) 1949
(D) 1950

C.9 DBF/19

36, ‘ammafs’ wmanla wagm
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41, Sum of three consecutive even integers is

| 54. Find the leag among them.
| BERCORT .
B) 15
©) 20
D) 16
o o 20240202+ 02x(02x02),on
A simplification is
A (A) 0-04
i © |
\ - (D) 036
b
¢ '
4 43. A fruit seller bought 11 apples for Rs. 10
| and sold 10 apples for Rs. 11, How much profit or
loss did he make?
Y (A) 20% loss
| @ (B) 21% loss
(C) 20% profit
! %{’ (D) 21% profit
o2 \1?
‘ '1 /Pg

44, Find the smallest number which when
dn(ldcd by 57, 76 and 190, leaves the remainder

n each case.

i / (A) 1140
|\ (B) 1141
{

() 1150
\ \‘U’ ) 1151
A\
“

(S L) INEe *

45, IfA:B=213.B:C=I,4;5‘C,;D=3:7,
thenthe ratioof A: B:C:Dis .
| (A) 8:12:15:35
| T\"N% (B) 8:15:12:35
9’ (C) 12:8:15:35
(D) 12:8:35:15

=10

41, of o4 A 0 Aeanta onapeA 54 70, AT
sy et s A
(A) 18 A\
, LAY
(B) 19 /7\) _
(©) 2 (\_)
N Al

42, 02402 -02+02%(02 %0242 A%7GH

i )
(A) 004 :&‘Cﬁ%
(B) 02 ")ﬁ
o AT
D)y 10-36

43, @7 w4 faet 10 Bl far 1% s
11 5w 1015 wifrefe ey $40e | B TS #Ale 9

S 777
(A) 20% S ,g@
(B) 21% S ff(ﬂ’Q)

(©) 20% S
W

44, PG (I FRYIF 57, 76 9K 190 2S5

@ AT | SR A
(A) 1140 \
@il w/
(C) 1150
(D) 1151 C\)

45. A B=2:3.B:C=4:549x
C:D=3zml.mA:I§:C:D-«mtﬂaﬁmm

W:IS:SS
o ™

(B) 8:13:12:33

(C) 12:8:15:35 )
(D) 12:8:35:15



46. A boat can be rowed 9 km. upstream or
18km. downstream ina period of 3 hrs, What is the
speed of the boat in stll water in km/y?

(A) 4 km/r
(B) 4.5 km/he
(C) 3 kmhr
(D) 3-5 km/hr

47. Asumofmoney becomes 27 times of itself
in3 years atcompound interest. The rate of interest
per annum is

(A) 100%
(B) 150%
C) 75%
| (D) 200%

-

48. In2200 m.race, A runs at § km/hr, A gives
- Bastart of 8 m and still beats him by 8 seconds.
- Find the speed of B in metre per second.

(A) a8 m/sec

19
(B) 24 \ssec
©)

19
2.2. m/sec
(D)

19

% m/sec

49, Find the amount on R3. 10,000 for 3 years
A% at 10% compound interest, interest being payable
[ V84 annually,

I
| = (A) Rs. 12,340 w f;{ ‘f p
(B) Rs. 13,210 K2 (/’ﬂ
(C) Rs. 13,320 %00 25
(D) Rs. 13,310 BN

- 50. Ifthe ratio of cost price and selling price of
- ®article be 10 ; 11, what is the profit per cent?
| (A) 5%
(B) 10%
© 15%
(D) 20%

C-11
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%9
(A) 4 fafi/2fs 9 /C,’{)T/m
o\

By 4.5 1/ 2(f5 2%
()

(C) 3 fafir/of% afim
(D) 3.5 fafi/ 2% 7%
47, o 1l & e 27 0 3 197A -

ST 27 04 3, O e A Ay
(A) 100% ‘f\g) 2l
(B) 150% Eﬂ A
©) 75% 0/) |
~(Dy200% f

48, 200 fidrs «afl efSrafiem A vom 5
(051 GG | B 33 8 iR o T o A 0715 0%
AT B-(3 8 (TR #1710 I3 | B~47 o3
b/ cee-a fadk aat g

7

48
4 38 fior s o gﬂ
Qa)/%” v/ s r,}w '
® ?—;- /s Q‘)

) Tﬁg fbra/ e

49. ML 10% 5eF% 2 5 10,000 Breva 3
TRUAS - TS TR 7 (3K o4 | T53)

(A) Rs. 12,340 ﬁ w
@

(B) Rs. 13210
(C) Rs. 13,320
s. 13,310
S0. @I T T @ Rewer TS
10 11 T4, o291 AG T2

B e
() 15% @
(D) 20%
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51, The ratio of the ages of A, B and C is

S:8:09 If the sum of the ages of A and C be
56 years, then the age of B is

(A) 20 years
(B) 32 years
(C) 36 years
(D) 40 years

52, \0.02+v0.0049 =7
(A) 003
(B) 0.42
(C) 0003
(D) 03

~ 53, Thevalueof \/0.01+/081+v/121++0-0009
is :

(A) 203

(B) 2:1 5-112
(©) 211 %
(D) 213 . /

54, Theratio of two numbersis 10: 7 and their
difference is 105. The sum of the numbers is

(A) 595
ﬁ
Nﬁ' ; 'v'J Nﬂ/

55, A alone can do a piece of work in 12 days.
B, whois 60% more efficient than A, will finish the
work in W

(©) 1190
(D) 1610

v
1 Ay P
(A) ?.5 days o Y k\c W
®) 65 days : Ib‘r/
(C) 8days ¥
(D) 6 days }iﬁ/

NN

51, A, B G (-0d QMHA AN 5: 8 9, 7f A
@ C-O7 71 3111 56 %2 70, 12 B9 779 7% 7

(A) 20 75¢ ‘
(B2 s M@Z

gE=’
(©) 3611 055 m
(D) 4() ! '

)

52 Jo02+ 00049 =

(A) 002 ,%‘ﬂga“
(B) 042 m W 4
(C) 0:003 CQ)
DY 03

53, J001+J081+/121 ++/0.0009 ~9% 9 I
(A) 203

4
R —3@;‘3

(D)2T3

54, 9601z TATS 10 2 7 G S 27T 105
e, 1 vfoa TR e g
NCEEE
(B) 805
(C) 1190
D) 1610

"53/*5;\

55. A <3 a7 12 PR s ol | B, AWI G

60% QR TF | e @ @I I IS B9 T
RIS

= L
e @TAJM
(B) 6-_} fim

(C) 8 @

(D) b ﬁ}_ﬂ



A

56, 11 50% of P = 25% of Q, then P = x% of Q,
Rind X =?
(A) 08
®) 2
(€) 50
(D) 0005

57, A certain principal amounts to Rs. 560 in
3 years and Rs, 600 in § years, Determine the rate
of interest per annum.
() 2%
(8) 4%
(€) 6%
(D) 8%

58, -§-rd of anumberis 26. Find out 25% of that

number,
(A) 9:25
(B) 935
(C) 9:55
D) 975

59, Two numbers are in the ratio 5 : 7 and their
LCM is 315, their product is
(A) 2358
(B) 2538
(C) 2835
(D) 2853

60. A person travels from P to Q at a speed of
40 kmph and returns by increasing his speed by
50%. What is his average speed for both the trips?

(A) 36 kmph
(B) 45 kmph

" (C) 48 kmph ’
(D) 50 kmph

9 ) DRF/19

86, Tt P-a% 50% = QA% 25% W, wre

PIQ‘Q‘!%WH‘-W? A
(A) 03 \ 7
(B) 2 4
{0) 50 Q
(D) 0005 L

57, CONA AR 3 TR R 560 Dt 9
5 QR -0 600 Brepl 2N | fden oA @9 e

(A) 2% I

W
e
(D) 8% (M )

58, IR SRUR % W WA 26 T, O

25%-07 TR T {
(A) 925 A
(B) 9:35 ’@‘ C\@
(C) 955 5@'&
\(D)-9'75 6‘\

59. 40 U TG 315 G WY TS 52 73

W Q6
(A) 2358 ; "
(B) 2538 ’&'( %) QL ;
(C). 2835 c’ﬂ
D) 2853 S/

60, << Y 40 Rrenfilbr/adt @ P (@ Q
o1y e o STt 50% 3w o et | e

Tigreite e o1e e aw e
(A) 36 fafd/y,
4gfaf/e, - @;
(D) 50 RfA/w,
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61. If 579
digit iy

(A) 3
®) 7
© 9
M) 11

* 2 be divisible by 11, the + mark

%

5-§- e 3-3— L l.thcnthc;mnrk

62, 1§ plﬁce

is

(A)

(B)
©

(D)

63. The simple interest on Rs, 500 for 6 years
at 5% per annum is ,

(A) Rs. 250
(B) Rs. 150
* (C) Rs. 140
(D) Rs. 120

1

64, A cando = ofa workin 5 days and B can
do % of the work in 10 days. In how many days
both A and B can do the work?

¥ (A) 7% days
(B) 9% days
©) 81;- days
(D) 10 days

65. Successive discount of 10% and 30% are
1 equivalent to a single discountof ____

| (A) 33%
b (B) 37%
& (C) 40%
B D) 47%

W

C-14

61, "% 500 e || gl Prstay za e,

Bfs w0 B w2
(A) 3 pyt)
) 7 M”W y
,\I(___(,'; 0 '
(D) |1

62, T S'r: ‘j —w= | TN A fom ATy
. )
THIS 23

5 0
(A) =0
} 4){7_3 %
® #)
»
g’
RN

e |

63. A 5% 7@ o 500 BRI 6 IR W

Lol
(A) 250 G
By 150 Ve {30
(C) 140 brat q,)
(D) 120 Tt (-’

64, A 9% e % T W@ 5 A eR B @
m%mﬁloﬁmmmlmnm
i et wrg '

(A) 73 G
35
B9 e

©) s.‘% B

D) 10 Fm

)
A
\

65. 10% 93¢ 30% THT QE-93 TG} Qg 7
I R ¢
(A) 33% gooe,
Mf %@b*r -
(€) 40% Q)
D) 47%




-

2:3%x23%2.3-0). 027
66. The simplified value of =< 33331065 +005
(A) 1
(B) 2
(C) 3
(D) 4

67. Two pipes can seperately fill a tank in 9
hours and 12 hours respectively. If both pipes are
in operation, the tank will be filled in

(A) 5% hours i

(B) 5;?2- hours

o
(®) 5% hours . %\/bf"
A

(D) 5 hours N

68. A certain number when divided by 175
leaves aremainder 132. When the same numberis
divided by 25, the remainder is

(A) 6
®) 7
(O
D) 9 |
69. A, B, C cando apiece of work in 6, 12 and

24 days respectively. They all together will
ctgiplctc the work in

3

= days
(A) 7 2 ay
(B) 9% days
(C) 8—3— days
(D) 3.31 days

70. 150 gm of sugar solution has 20% sugar in
it. How much sugar should be added to make it
25% in the solution? %

(A) 10 gms
(B) 35 gms
(C) 40 gms
(D) 45 gms

C-15

DBF/19

23x23723= 0027 _

66, 5 30604009 T o A A
YRS
BT Q;(@@T)
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L. Find fro
‘Essentia)-

(A) Unimponant
(B) Irrelevant

€ Essence
DY Vital

m below the word that means

— Complete the idiom by choosing the right
Word from the options given below:

The old lady was murdered in cold
(A) ice
(B) water
blood )
(D) milk

_ 7_3. Choose from the following the correct
indirect form of the sentence given:

He said to me, ‘I have never seen such a brilliant
boy in my life’.
(A) Thatlhave neverseensucha brilliant
boy in my life, he said to me.
(B) Such a brilliant boy was never seen in
my life, he told me.

(C) The boy was so brilliant that he had
never seen the like of him.
‘(Dj/Ht told me that he had never seen

such a brilliant boy in his life.

¢ 74. Choose from the list below the most
appropriate word to fill in the blank:

A is a person who gets things secretly
and illegally into or out of a country.

(A) importer
(B) criminal

smuggler
(D) exporter

75. Find out from the given words the opposite
of ‘Attack’,

(A) fight

(B) return -
(G’ﬁ:t:cnd
(D) pounce

LAty Yo

76. 1n the appropriate word, that be i

the unde: sart of the sentence
The hondl of was turned m1o a bird by (he
magiciin

(A} stulled

(B) put

(G Tansformed

(D} puffed

77. Fill :n the blank with an appropnate worg
from the lisi below:
Neither 1.ai2 nor Sujata
on 14th Oc ober.

{A) were
(B) are

(D) have been

present 1n class

78. Find [rom below the word that means
‘Enormous .

(A} Famous
(E) Normal

(C) Incongruous

tige from Passive to Active Voice.
choosing {-om the options below:

2irl was laughed at,
I\M}Ey laughed at the crazy girl.
(B Althe crazy girl they laughed.

(C+ They were laughed at by the crazy
arl.

The craz:

(1) The Crazy girl laughed at them.

80. Cnange from
choosing rom the
The boys e

Active to Passive Voice.
options below:

5 are flying kites in the sky.

\A) Kitesare flyingin the sky by the boys.

we sky, kites are flown by the boys:
U7 Kites are being flown by the boys i
e sky,

") e flying of kites in the sky is don®
V¥ the boys,



81. Replace the underlined verb with the most
appropriate phrasal verbs
He decided to yigit him at his home,
(A) Call for
\(B) Call on
(C) Callup
(D) Call oft

Cc17

82. Fill in the blank wifh an appropriate
preposition listed below:
The tired hawker sat

(A) up

(B) in

(C) from
under

the tree.

83. Replace the missing word with the right
word from the options below:

The man was so that he believed that God
Himself had drunk the milk offered.
(A) credible
(B) creditable ®
credulous
(D) incredible

g

84. Change the following statement into an
interrogative sentence:

You have had your dinner.
Mad you have your dinner?
(B) Have you had your dinner?
(C) Whataboutyour dinner, did you have
it?

(D) Did you have your dinner?

85. Choose the correct spelling from the options
below:

(A) Hyphanated
(B) Hyphennated
(C) Hyphannated
(D) Hyphenated

DBF/1Y

86. Replace the missing word with the right
word from the options below:
All Alok were present during the meeting
(A) except
(B) expect
(C) exceed
(D) accept

87. Fill in the blank with an appropriate
preposition given below:

Ram was good

\Ayat

(B) with

(C) about

(D) over

Chemistry.

88. Fill in the blank with an appropriate
preposition from the list below:

Rita’s mother did not approve her
returning home so late at night.

(A) for
(B) on
©) to
Oy of

89. Hewastoopreoccupied
to think of other matters,

{&ywith
B) in
(€) at
(D) on

his studies

90. Choosethe correct spelling from the options
below:

M{)’Biaggerate
(B) Exagarate
(C) Exaggarate
(D) Exagerate

Please Tur? L
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He rushed to the hmpllnl after

SBws. he the

(A) has heasd
(B) has been heard
(C) has been hearing

D) had heard

92. Fill in the blank with an approprlate
-~ preposition from the list below: = = -

Hf: was successful completing the job
within four days.

(A) on
By
(C) with
(D) of

93. Complete the idiom by choosing the right
word from the options given below:
When Deepak could not solve the problem
he decided to give

(A) off
up

(C) out

(D) back

94, Complete the idiom by choosing the right
gword from the options given below:
His old shoes have stood himin good____in
his travels. )
stead
(B) years
(C) price
(D) manner

95, Replace the underlined word with the right
alternative from the options given:
The time allowed for the work should have been
adeguate.
(A) indefinite
(B) su bsequent
(C) efficient
sufficient

C-18

96. (| the most appropriate word to fil] in
the blank
Theexamin 1« ould not understand the candidate’ s
handwritii, o causeitwas
(A tinet
(o shining
(C'v st lish
"{D‘l/.f gible
97. Till in the blank with ‘an appropriate
preposition [1om the list below:
The policei 1 seized him his arm and
led him avviy.
(AN
'-ZB'- weith
(1Y al
() on
98. Find i-om below the word that means a

plant thai ¢rows in hot-dry regions covered in
spines bul vi‘hout leaves:

(A) Creeper

Mc—ms

(Ci Eucalyptus -

(D) Sugarcane

99. Find ! word which has the same meaning
as COTT‘F‘rI" e’

(A) Aanounce
() Commend
) Begin
(1M Comment

100. Fili

' the blank with an appropriate
preposition from the list below:
Sita and M cra quarrelled themselves.
(A} unong
Jr7 Litween
(C)with

(02 !




1. Kamarpukur, the birth place of J/ R & AT T PR P
Sri Sri Ramkrishna, is in

(A) Howrah (A) 715751 (13

owra -

(B) Hooghly (B :;:!‘i (ﬁql‘-
(C) East Bardhaman (C) +f afw= s )
(H) St (D) &

2. The capital of Australia is 2. : -

(A) Melbourne (A)a EEEL L

(B) Sydney o {;'E“ﬁ é?

(C) Canberra

(D) Perth O FET Q’\;
(D) [

3. Whichoneof the followingstatescriticised | Q. o s 370 &1 Afem 393 =5

India for abrogation of Article 370 of Indian | frz Bfaf¥e aRskE @ @D SRS TS
Constitution?

AT
(A) Bangladesh A o
®) UAE I5) e il @%H‘W
(C) Turkey ©) =% Q'
(D) Saudi Arabia (D) GTR = T8 )
4. Who among the following is not arecipient 4. FiskRe Ifeme Yo & RS ==
of the Nobel Prize in literature? o AR

(A) Toni Morrison (A) of sfm
(B) Gabriela Mistral

73
P L
(C) Arundhati Roy ®

(D) Olga Tokarczuk

(D)em‘mw

5. Who is currently the Foreign Minister of | 8/ firy SR uRetm woy 63 o oresd
India? faom w8t
(B) Rajnath Singh (B) & B 'ﬂ’e"’t )
(C) Vijay Gokhale (C) [ m ( 1 FF YN

(D) S. Jaishankar
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6. Who among the following was not a hockey 3/ fors ©ffore afemma s v o cararare
player? qe
(A) Dhan Chand (A) ,m'mm
(B) Milkha Singh B ﬁlﬁ‘ﬂ Bre (@ 3
(C) Sardar Singh "
(D) Sandeep Singh (C) ¥ B -. Q

(D) et P

7. From which parliamentary constituency did
Prime Minister come in 2019 elections?

/2019%wm%ﬁaﬁmmﬂm

fAion e (2T TRt 7 .,
(A) Lucknow o W :
(B) Varanasi % CW
(C)- Raebareli ' @)
(D) Ahmedabad | - (© A
(D) MM
8. The 2020 summer olympic games will be (2020 e N S afeaiare
held in S 23 @ *=7F G
(A) Tokyo : "
(B) Beijing " B) @R . CWYJ* W
© pa G R
/ (D) Moscow D) &
— /
9. The 2019 Nobel Prize for Peace was 9, 2019 A=A ™ ¥R o ‘@IRE TwE
awarded to GOl
(A) Xi Jinping (A) 1o o2 ‘sz,
(B) Abiy Ahmed w%quw ot Al
(C) Greta Thunberg b o] ( )
(D) Malala Yousufzai (C) cabr g *
| (D) e RTFER

|

10. In which of the following states the head of
| India’s diplomatic mission is designated ‘High

A0, fry TeRe wfefa W @um orey

pimnle o TORIGT 2IACE 2R I 391 = 2
"R TR A ol C
2
B) UK (B) Y&Ie 8
(C) Germany (©) @nif &
(D) Russia

(D) s

Please Turn Over
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) I1. Keshav Maharaj is a cricketer who plays
or

(A) West Indies

(B) England

(C) South Africa

(D) India

’a

12. India’s ‘Look East’ policy was launched by
(A) Narasimha Rao

(B) Atal Beharj Vajpayee
(C) Manmohan Singh
(D) Narendra Modi

13. Amarkantak is in
(A) Maharasthra
" (B) Madhya Pradesh
(C) Rajasthan
(D) Uttarakhand

14. Who is currently the Governor of Jammu
and Kashmir?

(A) N.N. Vohra

(B) Jagmohan

(C) Satya Pal Malik

(D) Girish Chandra Saxena

15. Usain Bolt is a
(A) Long distance runner
(B) Swimmer
(C) Basket ball player
(D) Archer

D-4

1. >3 werae @ o A s

ol 77
(A) eurs 3fde
(B) 2 @ 2
(2f A i ®)
(D) ©f®

12. 1o ‘SR = (Look East) ez 5=

I
bt ane
=3 AR
G

(D) 7= Gl

(A) 3=

(B WQM @ K
(© o 8
(D) Tearie

J(a\ﬁmwemwww
(A) . . (ofat
< C;A‘ﬁJt \

mw "

(D) TRt v shicaea 6)

15. Usain Bolt- 93%+

(&) et e
(B) rorF

(C) ACHHIA (TFRIG

o)
s

(D) e




16. Which Indian cricketer has scored the
highest number of double centuries in Tests?

(A) Sunil Gavaskar
(B) Virat Kohli

(C) Sachin Tendulkar
(D) Virendra Shewag

17. Where did the INA unfurl the Indian flag
after defeating the British on 14th April 1944?

(A) Imphal
~ (B) Moirang
(C) ‘Kohima
(D) Moreh

18. In which year did India host the
Commonwealth Games?

(A) 1990
(B) 2010
(C) 2014
(D) 2018

19. Who among the following was the first
President of Indian National Congress?

(A) Dadabhai Naoroji

(B) Allan Octavian Hume
(&) \?’ C. Bonnerjee

(D) Surendra Nath Banerjee

20. Which one of the following ports is not in
Pakistan?
(A) Karachi
(B) Gwader
(C) Pasni
(D) Bandar Abbas

D-5
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16. (36 4= @l ©ladt feranm 4ifbs

fa-*s ater wrarme ¢

(A) FNE SIS
Mm cwtafi

17. 1944 A=A 143 ¢fere &@fow ormfeaics

2318 I INA @ IR o Braer wrafza

T @M)

(D) ?rmmﬂ
(A) T4
(B) ¥4

(O IR

(D) GMR

18. FHREEAY (I (T ISR SIATS s

7Y
(A) 1990 cU\W’QM/f\
(BY 2010 pﬁg,@
(C) 2014 E)
(D) 2018

. s SheRe gfesicr g @ s s

AT AN Aot o 2
(A) ISR ASTI&

B TG @,)
(D) e Pt

20. T SRS Iwaelin Wy @Wbe Sy

ANIBI 7T 2
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(B) (olramia
(©) AR (“}
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21. 1dentify the statement that wrongly depicts
Mamallapuram as

(A) a UNESCO cultural hertage site,

(B) the ancient capital of the Pallva
Kingdom.

(C) home tothe development of Kathakali
dance form.

(D) a tourist spot.

22. Which one of the following does not cause
global warming?

(A) Burning of fossil fuels
(B) Petrol cars

(C) Solar energy

(D) Deforestation

23. Who among the following Nobel Laureates

did not have any significant connection with
Kolkata?

(A) Modther Teresa

(B) H. G. Khorana

(C) C.V.Raman

(D) Avijit Binayak Bandyopadhyay

24. Which of the following states in India is not
a tea-growing state?

(A) Assam

(B) Tripura

(C) Madhya Pradesh
(D) West Bengal

25. Who was the first Chairman of India’s
Atomic Energy Commission?

(A) Homi Bhaba
(B) Vikram Sarabhai
(C) R. Chidambaram
(D) H.N. Sethna

-6

21, st oA fore Bfefrs fagfenfaa
sy (el sy o
(A) aft 3 UNESCO weafas Ae3f5a
g |
By aft fomt otera AremTa Areena |
(C) QAiTa Forfer qrara & | &]f
(D) @it g6 oifber e | @'

w{. oy Beeria o) FsfEfas Fmers e

@ 7 TW e
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®) ﬁﬂ*ﬂf@ é@y
23, Ty SfafRe @ieee oz Rediors S
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(A)

wem G
o ©)
(D) ifé5aras

25. ©RTed ATNpE Fhmitra e Foieifs

fotem
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(B) ey Ao} \
(C) =z fowrgaw
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26. The first Indian Governor General of
independent India was

(A) Dr. Rajendra Prasad
(B) C. Rajagopalachari
(C) Dr. B.R. Ambedkar
(D) Dr. S. Radhakrishnan

27. Which was not a Portuguese colony in
India?

(A) Pondicherry

(B) Chandannagar

(C) Goa

(D) Andaman and Nicobar Islands

28. Which one of the following states is not a
member of BIMSTEC?

(A) Pakistan
(B) Myanmar
(C) Sri Lanka
(D) India

29. Which one of the following countries was
recently in the news for burning of the World’s
largest rain forest?

(A) Mexico
(B) Brazil
(C) Venezuela
(D) Ecuader

30. The ISRO has its Headquarters in
(A) Hyderabad
(B) Bengaluru
(C) Ahmedabad
(D) Thiruvananthapuram

D-7 BDA/I9
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31. Inthe 2019 Parliamentary elections, Rahul
Gandhi was elected from

(A) Amethi

(B) ‘Wayanad

(C) Thiruvananthapuram
(D) Medak

32. Turkey recently launched an attack on the
Kurds residing in

(A) Iran

(B) Iraq
- (C) Syria

(D) Saudi Arabia

33. Which one of the following is not an
independent state?

(A) Vanuatu
(B) Netherlands
(C) Alaska

(D) Canada

34. The GovernorofanIndian State isappointed
by
(A) Prime Minister of India
(B) Home Minister
(C) President of India

(D) The Chief Justice of the Supreme
Court

35. The book ‘Asani Sanket’ was written by
(A) Bibhuti Bhusan Bandyopadhyaya
(B) Manik Bandyopadhyaya
(C) Samaresh Bose
(D) Sirshendu Mukhopadhyaya

36. When did Alexander invade India?
(A) 323B.C.
(B) 325B.C.
(C) 326 B.C.
(D) 327 B.C.

D-8
31. 2019-93 7R ferdfor arem hf =
fdffseram (2 were aE o
s ()T
(B) ST chfU}t. y
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(D) GToR @)
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3. Given below are the names of some sports
persons and the games in which they excelled.

Which one of the following is correctly
matched:

(A) Christiano Ronaldo  Cricket
(B) Simona Halep Tennis
(C) Tiger Woods Billiards
(D) Joe Root Foot ball

38. Which among the following rivers originate
from the Himalayas?

(A) Damodar
(B) Cauvery
(C) The Bramhaputra
(D) Narmada

39. Swami Vivekanandadelivered his Chicago
Addresses in

(A) 1890
(B) 1892
(C) 1893
(D) 1894

40. Rabindra Nath Tagore gave up his Knight-
hood in
(A) 1905
(B) 1911
(C) 1914
(D) 1919
41. If 20%+301-—*—35— then the * mark

3 3’
place is

]
(A) 155

1
(B) 152

1

]
(D) 155

RDA/TY
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42. A person travels from A to B at a speed of
40 kmph and returns by decreasing his speed by
50%. What is his average speed for both the trips?

(A) 163 kmph
(B) 26 kmph

(©) 36—§-kmph

(D) 26%kmph

43. The average of 7 consecutive numbers
is 20. The largest of these numbers is

(A) 24
(B) 23
(©) 22
D) 25

44. The simplified value of:
 873x873x873+427x427x427
873x873+427x427-873x427

) 11
(B) 14
©) 13
(D) 15

45. Ina 100m race, A runs at 8 km per hour. If
A gives B a start of 4m and still beats him by
15 seconds, find the speed of B in m/sec.

7

(A) 31? @sec
1 ‘

(B) _3T§ m/sec
2

©) 31-5: m/sec

(D) % m/sec

D-10
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46. Successive discount of 20% and 25% are
equivalent to a single discount of

(A) 33%
(B) 40%
(©) 35%
(D) 45%

47. Find smallest number which when divided

by 20, 42 and 63, leaves the remainder 1 in each
case.

(A) 1241
(B) 1261
(©) 1259
(D) 1239

48. Find the amounton Rs. 625 for 2 years at 4%
compound interest, interest being payble annually.

(A) Rs. 756
(B) Rs. 676
(C) Rs. 767
(D) Rs. 675

49. A tap can empty a tank in 30 minutes while
second tap empty it in 20 minutes. If both the taps
are kept open, how much time is required to empty
the cistern?

(A) .12 minutes
(B) 25 minutes
(C) 50 minutes
(D) 55 minutes

50. A sum of money becomes 4 times of itself
in 2 years at compound interest. The rate of interest
per annum is

(A) 150%
(B) 100%
(C) 200%
(D) 75%

D-11 BDA/I9
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S1.1060% of P=30% of Q. then P = x% of .
Find x =?
(A) 05
(B) 2
(©) 50
(D) 0-005

S2. A boat running downstream covers a
distance of 24 kms in 4 hours, while for covering
the distance upstream it takes 6 hours. What is the
speed of the boat in still water?

(A) 5-5 km/hr
(B) 6 km/hr
(C) 3-5 km/hr
(D) 5 km/hr

2
53. 3 rd of a number is 36. Find out 25% of that

number.
(A) 1325
(B) 135
(C) 1351
(D) 1365

54. The value of \/0-01+ /00064 ++/016 is
(A) 0-4
(B) 03
(©) 07
(D) 08

55. A 60 metre long train is running at a speed
of 40 km per hour. It will cross a railway platform
90 metre long in

(A) 14 seconds
(B) 135 seconds
(C) 14-5 seconds
(D) 13 seconds

T U me—
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§6. The simple interest on Rs. 400 for 5 years at
6% per annum is

(A) Rs. 140
(B) Rs. 120
(C) Rs. 110

(D) Rs. 124

§7. A fruit seller bought 15 apples for Rs. 12

and sold 12 apples for Rs. 15. How much profit or
loss did he make?

(A) 56:25% profit

(B) 56'35% profit

(C) 5625% loss

(D) 56:35% loss

58. A alone can do % of a work in 5 days and

B alone cando % of the same work in 4 days. How

many days working together will they finish the

work?
2
(A) 23 days
(B) 3days

(C) 9 days
5
(D) Sﬁ days

59. A number when divided by 119 leaves
remainder 19. The same number when divided by
17, will leave remainder

(A) 2
B) 7
(C) 10
@) 5

60. The ratio of the ages of three persons is
7 : 5 : 4. The sum of the ages of the first and third
exceeds the double of the age of the second person
by 5 years. Determine the age of the second person.

(A) 20 years
(B) 25 years
(C) 27 years
(D) 30 years

56. 7ff® 6% 5177 AH 400 B 5 9047 77
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‘ 61. 300 gm of sugar solution has 40% sugar in
it. How much sugar should be added to make it
50% in the solution?

(A) 10 gms
(B) 40 gms
(C) 60 gms
(D) 8 gms

62. A alone can do a piece of work in 21 days.
B, whois 40% more efficient than A, will finish the
work in

(A) 10 days
(B) 12 days
(C) 15 days
(D) 18 days

63. Two numbers are in the ratio 3 : 5 and their
HCF 12, their product is
(A) 1620
(B) 1800
(C) 1980
(D) 2160

64. fA:B=4:3,B:C=3:5andC:D=10:9
thentheratio A: B:C:Dis
(A) 8:6:9:10
(B) 8:9:6:10
(C) 8:6:10:9
(D) 6:8:10:9

65. A certain principal amounts to Rs. 500 in
3 years and Rs. 540 in 5 years. Find the rate of

interest per annuin.

52,
(A) 7%

50,
B) 7%

56
©) "l*l‘%

54
@) 7%

D-14

61. 300 sim fofera e 40% o 08 | 62 e
staa s o i fifirs Fam R offzanel cafe

frtzera 50% 2047

(A) 1037 ﬁ()ﬁﬂ
(B) 40 3™

60 am b\
(D) 8 A

62. A 93l @@ 21 fa FICS I B,
A3 (5T 40% CITR 7 | O1TaT 6% 3R T F4C
B-93 E AN [

A) 101 M
B) 12T 4

15 = @>
(D) 18FH

63. 4B YA AL, 12 R O FLMS 325,
IR @I

(A) 1620

(B) 1800

2160

64. IMA:B=4:3 B:C=3:54xC:D=10:9
FWORA:B:C: DS F9°?
(A) 8:6:9:10

WG’:():IO @m
8:6:10:9\/ Q)
(D) 6:8:10:9 '

65. (I YA 3 QLI Y- 500 BIP 9K 5
T - 540 DIl 2 | IS R /T IO

52
(A) ﬁ%

A
56 @

0
)
.@/{, %
-0
(&) T Yo

(D) %%



66. 1f 45337 * 2 be divisible by 11, the * mark
digit is
(A) 8
(B) 6
€ 4
(D) 2

67. What rate per cent is 1 minute 48 seconds to
an hour?

(A) 1%
(B) 2%
©) 3%
(D) 4%

68. The price of coal is increased by 20%. By
what per cent a family should decrease its

consumption so that expenditure remains same?
(A) 40%
(B) 231%
3
(C) 20%

20
(D) 163%

69. 15% loss on selling price is what per cent
loss on the cost price?

(A) 1323

(B) 23§%
2
(€) 1355%

2 0,
(D) 2352%

70. Onsimplification, 3034 — (1002 +20:04) is
equal to
(A) 2543
(B) 2984
(C) 2993
(D) 3029

D-15
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71. Fill in the blank with an appropriate word

from the list below:

Earlytobed and carlytorise _~~ a
man healthy, wealthy and wise.

(A) make

(B) made

(C) have made

h_(?«b makes

72. Change the following statement into an
interrogative sentence:
She had time to finish all the questions.
(A) Do you think that she did have time to
finish all the questions?
B) #Aad she no time to finish all the
questions?
(C) Did she manage to finish all the
o questions?
" (D) Had she time to finish all the
questions?

73. Find out the correct sentence from the list
below:
(A) The behaviour of the children were
not up to the mark.
(B e behaviour of the children was not
up to the mark.
(C) The behaviours of the children was
not up to the mark.
(D) The behaviours of the children were
not up to the mark.

74, Find the word which has the same meaning

as ‘Cautious’.
(A) Peaceful

(B) Wi
‘-(Q/gu:ful

(D) Courageous

D16

/18, Fill in the blank with an appropriate
preposition from the list below:
The deer is afraid
(A) from
(B) by
(C) /fpr

(P of

_the tiger.

~1ﬁ./ Replace the missing word with the right
word from the options below:

A list of candidates for the
admission test has been put up on the notice-board.

(A) illegible

(B) honourable

LY eligible

(D) ideal

77. Change from Active to Passive voice,
choosing from the options below:
The society will help the poor children with
money.
poor children will be helped by
the society with money.
(B) Thesociety will be helped by the poor
children with money.\_
(C) The poor children will receive help
from the society with money.
(D) Thepoor children will help the society
with money.

78. Fill in the blank with an appropriate
preposition given below:
Ratan entered the room and looked
the painting on the wall.
(AY at
(B) down
(©) wp
(D) in



\J9. Find out the right word to complete the
following sentence:

The government punished him because of

his activities.
WA illegal
(B) antisocial
(C) charitable

(D) shameful

80. Complete the idiom by choosing the right
word from the options given below:

She could not make up her
what to buy.

(A) decision
(B) logic
L‘(O)/I:Jind

(D) heart

about

81. Choose the correct form of the verb from
the options given below:

Have you heard that Mr. Basu
the Chairman of the Executive Committee?

(A) had being appointed

(B) were appointed

(C) was been appointed
has been appointed

82. Find from below, the word that means
‘a boy who frightens weaker boys’.

(A) Tramp
«B) Bully

(C) Hypocrite
(D) Tresspasser

83. Choose the correct spelling from the options
below:

(A)-Satellite

) Satalite
(C) Satallite
(D) Satelite

D-17
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84. Find from below the word that means
‘esteem’.

-(A)/l(cspect
(B) Enmity
(C) Elegance
(D) Famous

-85./ Find out from the given words the opposite
of ‘Dangerous’.

(A) Terrible

(B) Quiet

Q&Q/gafc

(D) Gentle

&/B( Choose the most appropriate word to fill in
e blank:

Ratna’s motheris
sign her name.

(A) literate

~‘(2/3ﬁﬁmge
illiterate

(D) deaf

shecan’teven

87. Choose the correct spelling from the options

below: ;
Mr:bitious

(B) Ambitous
(C) Ambicious
(D) Ambiteous

88. Complete the idiom by choosing the right
word from the options given below:

The women in the country fought tooth and
for liberation.

(A) tongue
(B) mouth

O Nail

(D) hand
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choosing from the options below:

The tutor taught Ronny Mathematics for
two years.

A) Ronny was taught by the tutor
Mathematics for two years.

(B) Mathematics was taught for Ronny
by the tutor for two years.

©) -5'Ronny was taught Mathematics by
the tutor for two years.

(D) Ronny was taught by the tutor for two
years, Mathematics.

90. Find out the appropriate word or words that
befits the underlined part of the sentence:

When buying a gift one should keep in
mind the person’s likes and dislikes.
(A) Invent

(B) Ignore
-(.C)/I";}nkabout

(D) Admire

%Choose from the list below the most
appropriate word to fill in the blank:

An action which is most difficult and almost
impossible to explain is

(A) voidable
,@«);u:xpﬁcable
©) indescribable
(D) incoherent

“92. Fill in the blank with an appropriate
preposition from the list below:

’_ The Emperor Akbar ruled
kingdom.

o
(@ over
(C) on
(D) by

avast

Ll

D-18 /
MChange from Active to Passive voice, 3. Fill in the blank with an appropriate

preposition from the list below:
The cat sneaked in and sat the
little girl.
) under
(B) besides

©) 1
\(y))b::ide

94. Find out the right word to complete the
following sentence:

We buy meat from a
(A) Green grocer
utcher
(C) Broker
(D) Baker

/ﬁ Fill in the blank with an appropriate word
from the list below:
Neither of the two brothers Ramesh and

Suresh found suitable for the job at the
interview held yesterday.
(K) were e
&
was
(D) have been

96. Choose the most appropriate word to fill in
the blank:
Amit’s story about ghosts and witches is

[ A -
\gﬁd/t;elievable

(B) strange
(C) wild
(D) relevant

n




97. Change from Passive to Active voice,
choosing from the options below:
Many things may be accomplished by a
little effort.
(A) They may accomplish many things
by little effort.
(B) They can accomplish many things by
little effort.
(C) One may accomplish by little effort
many things.
«D) One may accomplish many things by
a little effort.

98. Complete the idiom by choosing the right
word from the options given below:

BDA/I9

99. Choose the correct form of the verb from
the options given below:
By the time we reached home the rain

(A) has stopped

\(B) had stopped

(C) had been stopped
(D) was stopping

100. Choose the appropriate word to fill in the
blank:

He moved heaven and to get bail The man seems because he
for his friend. frequently laughs loudly for no reason. N 4
(A) hell (A) ‘happy \ﬁ/
(B) sky .. B) c
_ (C) cOSmos o@éz::m:ﬂal ﬁ O 7
@dﬂh (D) admirable _‘ a‘ﬁ \o'f}s
Yo =
N \9
)(( ?r\% @ \ \uka\
n‘*’_ ¢ 0\ '5? o 2\/0 (C'? 2\
4%/ 9} ‘7/ ! al% el i 0 NS
W ICEC Y AR AN
G Oé K\/’L_ﬁ&ggw ,]‘L_
o @1)’)53, X’”ﬁ \ 3<\°}\|l@l
o - \© Q)*/Q@ qA> W f\:‘;ﬂsﬂ
: 9 /
| X “q;ﬁ% ! O J0'd A W) ‘N?g}/ /
0o\ 0 7\ ~G S/JO\OW‘V>0?&
Qﬁ © 0 o o % qﬂ] \ ) t;%
» 9 %ﬁx/ AP
. 9,7/ ?g ’T O\



	WBPSC Clerkship (1)
	Clerkship Book Ads 2

